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9 Practice {continued) Form K

Name

. Factoring to Solve Quadratic Equations

Write each equation in standard form. Then solve.

19. 3% ~x — 7T =2 + 5 20. x2 — 4x - 2= —9x + 4

yﬁ%ﬁﬁﬁ&ﬁ“

Find the value of x as it relates t0 each rectangle or triangle.

21. Area=15m? (3. 22. Area= 408 in® o
X
X
X+ 2
3x--2
23. Area =36 fi2 G 24, Area =600 cm?® (24
m
X+ | 2% + 2
X

25. Reasoning For each equation, find k and the value of any missing solutions.

a. x* — kx — 15 = 0 where —3 is one solution of the equation.yi{ vl B

b. x? — 10x = k where 12 is one solution of the equation. of:= 2y =g 0

26. Writing Explain how you solve an equation by using the Zero-Product
Property.
: he product of two factors is zero, then one or both of the factors.eoual-

factor edjual to zérd aifd find each solutian,
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